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Notc :
i) The question paper is divided into two parts — Part-A and Part-B.
Part-A and Part-B are divided into three Sub-Sections — (1), (2' and

(3).
iti) In Part-A of the question paper, there are multiple choice questy 1
which select the correct alternative and then by a blue or black
point pen, fill completely in the circle in OMR Answer Sh '

erase. cut or use whitener on the OMR Answer Sheet af

»

iv) 1 mark is allotted for each multiple choice question i

v) Part-B has descriptive questions. ¢
vi) The allotted marks are given in each questio q
vii) All the questions of Sub-Sections of e to be attempted all at a
time. Start each Sub-Section from a age.
viii) All the questions are compulsory;o
-A
W)

@a Choice Type Qﬁntlom )

\0 FAWET - (1)
% Sub-Section - (1)

1. zdu @ Fmufed W fRor gdor @ quads ¥ Igoe o @ anf @
St B 78 R0 g6 7 F1 IR wdt R
AP ®HE | " (B) mq&ga%smﬁ
(C) T FZ W (D) ¥ W 1

A ray of light incident on a concave mirror retraces its path after
reflection from the mirror. The ray intersects principal axis at
-(A) focus (B) in between focus and pole

(C) centre of curvature (D) infinity ,
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) TS R R % R s, dien e aafifa sfafaa awmn 21 @
g

(g‘\J _m

B) Iae
JHdA-ASdHA
(© (D) & ¥ Fd A !
2. Alens for certain Position of the object forms an imaginary, erect and

magnified image of the object. The lens will be

(A} concave ~<B) convex _ &
(C) plano-concave - ' o 1

(D) none of these

3. ﬁaé’maﬁqﬁmaﬁﬁqﬂaﬁq%m&m%

(A) gaelt gRT ® qﬁm
(C) qﬂmﬁwmrr | |

3. Focal length of eye lens is changed by §

-

(A) pupll . '"{B]o tina .

(C) iris | Q ciliary muscles 1
4 WSS W %, “—ﬁ?‘! T & ﬁ*—lq e 2

(A) O g@ (B) WA

() fa=d= 06 (D) 9T 1
4 Optxcal phcnomcr@ponmble for blue colour of clear sky is |

' refractign \ | (Bl -scattering _

(C) diffraétio (D) reflection 1
> [ 440 91, 220&7%%:%%%@%%

(A) Qo 3 | (B) 2253

(C) 11520W (D) 110 3™ . L
3. 440 W 220 V is 'markéd on an electric bulb. The resistance of the

fil { the bulb will be :

rament © (B) 225 ohm

W ;00 ohm (D) 110 ohm 1

(C) 115o0hm
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6.  foga ahuy § yqw €0 1@ 5o vl & T RE WA T RA M ¥ ww g
3 R ) Al A e T e w1 T B
A ' B
(1) —pkin— () &R shrfE
@ —Q@)— i) e
@) —j— - (iii) 9fEdT wfery O®

(4) +  (iv) iR @)

o
(A (1)-(ii), (2)-(iv), (3)-(id), (4)-()) (B) U)-("']@-(ii), (3)-(iv), (4)-(1)
(€ . (1)-Gi), (2)-Gid), (3)-Gv), (9-G) (D) (1 (2)-(ii), (3)-(1), (4)-(iv) 1

6. Symbols of few components used in cal circuits are given in

column A. Match with names given 6
A $: B

(1) —MW Q wire crossing

(2) L@——e' (ii) electric cell

mn B and choose the correct
option :

(iii) variable resistance

(3)
4) *. (iv) ammeter
( a\ :
(A) ?(iii,(2)—(iv],(3)-(iil,{41'[i) B) (1)), (2)-(ii), (3)-(v), (4)-(3)

00 -(ii), (2)-(ii), (3)-Gv), (N-6) (D) (1)-Gidd), (2)-Gid), (3)-(i), (4)-Giv) 1
7 é@\ yrramdt g A wdaEaTgES wew R A" R g

A) d-ufan @ | (B) - A

©) ve-zfw i (D) ferelt oft foewm & 1
" A freely uspcndcd current carrying solenoid always rests in

(A) ecast-west (B) north-east

(©) north-south (D)  any direction 1
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ITUTT- (2)

Sub-Section - (2)
8. frafafgs & $F-f urg 0 & a9 W 3w eEy d T gl 7 2

(A)  Aftafirm B) W

(C) =R (D) UghtEm 1
8. Which of the following metals is not in solid state at room temperature ?

(A) Magnesium (B) Mercury &

(C) Copper (D)  Aluminium o 1
9. 3T TS ek b1 3fufEa & W g1 @ Q

- 4
(A) BTG (B)  IrefeH <
(C) (D) W & 1

9. Reaction between acid and base gives \EQ

(A) Hydrogen (B) gen
(C) Chlorine Salt and water 1

10. Frafafga afufean

CaCQ3 (s) =, CaO (s) + w

(A) e & B) fefremm st =
(C) _ JrqereA (D) &ENA ANl ® 1

o
10. Following re

CaCOSQ CaO (s) + CO, (g)

isa ple of
Qplaccment reaction (B) double displacement reaction
decomposition reaction (D) combination reaction 1

11. m—wwmmﬁwm%?

(A) C B) N

€y O . (D) F 1
11. Which atom has the property of catenation ?

(A) C (B) N

© o (D) F :
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12. Frfafen § e @

(A) CH;—CH=CH, (B) CH3z—C=C-—H

(C) CH,=CH, (D) CHy—CH,—CHj,4
12. Alkyne among the following is

(A) CH;—CH=CH, (B) CHz;—C=C-—H

(C) . CHy=CH, (D) CH;—CH,—CHj
13. @?@M%mﬁm@m% - &

A @) q%h 00

(C) TIAZH 3
13, is used in the form of fuel and medICllbq

(A) Ethanol (B)

(C) Ethanoic acid {D$‘ pane

Sub- n - (3)

14. ﬁﬁsﬁlésﬁmshﬁsr% ot 2, R

(A) dhT (JEF) (B} I=IY (%)

(€ 0 (D) =g
14. Unit of ki :e&@mh takes part in the process of excretion is

(B) Nephron

(D) Muton
15. fores forg ueerf @ 2
(B) MISH %1 387
AT 1 TEH (D) HTRAiST #1 389
15. Xylem in the plants is responsible for |
(A) Transport of water - (B)  Transport of food
(C) Transport of amino acids (D) Transport of oxygen
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16. @l qiwer & feru aravasdr @ 2

(A) WTE SEHTFETEE 3R IS H (B) FIfReT
(C) HF * ywm f (P) FHaW 1

16.  Autotrophic nutrition requires
(A) Carbon dioxide and water (B) Chlorophyll

(C) Sunlight (D)  All of these 1
17. i & ufeufa 8§ areede o sifedieto S & fea wi o ?

() e T B = ()

(C)_ it D) sneeh SfH ]
17. Pyruvate is oxidized in which part of the cell in ce of oxygen ?

(A) Cytoplasm (B) s

(C) Mitochondria (D) &doplas-mic reticulum
18.  dvee I o wam Rem e O

(A) éwmgﬁ%m%%ﬁ*% A % I & forg

(C) W%W%%Q@ (D) ¥ % I % forg 1
- 18. Why did Mendel cond experiment ?

—

(A) For the studyof ihheritance of traits

(B) For prod% f pea
(C) For % ion of rice

(D) Forp ction of wheat’ 1

19. 4 Q@ B9 AN W@ @0 % v R gey gt 2 2
(CFC) (B) %R TRITFTES (CO,)

(C) A Aiaaags (CO) (D) e 3= (HNO,) 1
19. Which one of the following is the main substance responsible for ozdne

layer depletion ?

(A)  Chlorofluorocarbon (CFC) (B)  Carbon dioxide (CO,)

(C) Carbon monoxide (CO) (D)  Nitric acid (HNO,) 1
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20. ﬁﬁﬁﬁaﬁqmﬂj@mwﬁnﬁwﬁ?{?
oA
(A) HTE, & qu 9 B), = a1 7l
(D) ™, gesedl A1 gl 1

(C) &H, g asn &1

Which one of the following make Up the food
(B) Grass, goa

(D) Grass, fish and elephant

(C) Goat, cow and elephant
@UE - &

PART - B
( ot U9 ) Q’ _
S

( Descriptive Questions )

IGWIT - (1) \0
Sub-&ction§

1. (i) Tyl 9ade $I g Al
) S dd-gR QA w Gfm fuoft ferfau)

1. (i) Explain the phcnon@ of refraction of light.
(i) Write a short n hypermetropia and its correction.

5. (i) Ja@ gdu ¥ fore gz fafaw s gdur & =15 @ IwIm feafEu

SO 2
9 aazoﬁrﬁqﬁﬂ@%a.aﬁaﬁaﬂ?mg@g@mi%m
| Sfa @ =g gt 30 et 31 sl A feufe aur wpfa W@ i

chain ?

20.
t and human

(A) Grass, wheat and mango

2
2
2
2

(11)

z _ 2
2. (i) Give the formula for the focal length of a convex mirror. Give any
two uses of the convex mirror. ‘ >

length 2 cm is placed in front of a convex lens

(iij An object of
s, having focal length of 20 cm. Distance of

perpendicular to its axi
the object from the lens is 30 cm. Find the position and nature of
the image. -
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(1)

(i)
(1)

(i)

(i)

(i)

(i)

(i)
i)

(ii)

5000/56
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et gy 83 & yrraTd s W R aTen W@ Re-fR wRE W Ak

F=a g ? 2
TEF a1 yrard) aferferan § e W Hif) 2
On which factors, does the force acting on a current carrying
conductor placed in a magnetic field depend ? 2
Explain the difference between magnet and current carrying
solenoid. , 2

mwﬂmmﬁaﬂﬁmmmai%ﬂf@ﬂm
Frm forfgw) @9 yrrard) e g s g @ Y zatsa)

RA ™ whow § Awd B ¥ d qe wRdY 7w S g&ﬂu%mﬁaﬁna
fenvaran & o Hifng 6

R
&

Aga TRewt & w@ ’i&sﬁ%? forelt 7w § o arftm 2200 aw

%|ﬁ'gﬂ£r R 6t Nt ) T T NGE W B AgHais @
=1 SRE A Rl 3

tﬁ'eL § g AR & AW T AR AR * a1 frfgg 3
%nght hand thumb rule for finding the direction of

etic field associated with a current carrying conductor. Show
@ magnetic field lines due to straight current carrying conductor.

3
In the given circuit, find the equivalent resistance between A and B

and potential difference between the ends of the 5 Q resistance. 3

4Q
. c o 10 Q -
16V
|'I!
OR
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(1) What is the importance of fuse in electrical circuits ? Total load of
a house is 2200 W. Electricity is supplied at 220 V. What shoulq
be the rating of fuse used in the house ? Write down the
commercial unit of electrical energy. 3
(i) Write the names of the wires used in the domestic electrical circuit
and also write the colours of the insulating wires. 3
IJANTT - (2) &
Sub-Section - (2) (P
5. (a) ffaRea Afve w1 1UPAC Tm faf : | Q* 1+1
R 5@ .
i H—C—C—C—Br
g R . \0
H H H $
Toh
(i) H—?—$ C— {}
H H
o) @ FEA meml (%ae g fofge) )
% Qﬁﬂﬂﬁ'ﬂﬂ HoHhe —
\e‘ afem wehe + @ﬁ%ﬂﬁhﬁ
Q 1
5. (Q rite IUPAC names of the following compnunds 1+1
H I-l ' '
|
() H-— ?‘?_? Br
H H H
H H O

. ]
) H—C—C—C—OH

|
H H
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(b) (i)  Write an example of combination reaction (write equation
only). 1
(i)  Write balanced equation : 1

Barium chloride + Aluminium sulphate —»

Barium sulphate + Aluminium chloride

(@) Frafofea ot w1 e e fo 1+1
(i) wifem
(i) A o&
b) Feafafea el # dgie i : N & 1+1
@  Fe(s)+H0 () —» Fes0u () + Ha (@ &°
i) CeH1206 (aq) + Oz (aqQ—>CO; (aqg) 1)
(a) Write electronic configuration for the @ng elements : 1+1
i) Sodium $
(i)  Chlorine - o
(b) Balance the following equatiofig 1+ 1
i  Fe(s)+HO(g) 4(s) +Hs (g)
@) Cef1206 (aq) + —>CO; (aq) + HO (1)
frefofae w afiw forf : | 2+2+2
(@) g ol 0
(b)

A=l
(o) ﬁZ\z\ m-

(QQN%WWW%?I@W*H\WWI 3
(b) mmmmammmhmm. 3
Write short notes on the following : 2+2+2

(a) Acid rain
(b)  Ductility and Malleability
(c)y Micelle
OR
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stand by corrosion ? Give two measures for

(a) What do you under
3

protcction against it.

(b) What do you understand by Exothermic and Endothermic
3

reactions ? Give examples.
JIETT - (3)
Sub-Section - (3}
8. @ﬁﬁwaﬁ'ﬁm(:{gﬁ)ﬁﬁﬁmmwsﬂ%ﬁmwml 2+ 2

8. Draw the structure of a nerve cell and describe its functions. 2+2
frafafaa w fim ol fafe oo 2+2
(i) YRR WA & FH Q‘
() TF 6@

9.  Write short notes on the following : \0 2+ 2
(i) Functions of thyroxine hormone $

(i) Budding. o
10.  qoft defi & v I 1 i w 4

10. Describe sexual reproductioggimythe flowering plants. 4
11. qgw’fﬁmmﬁm ' F UG FRA BT ? 3+3
60 Sreran
e 5 5w g o g on w3 i ity .
11. Howar n and carbon dioxide transported in humans ? 3+3
Q OR
Q:Q& the structure of human heart with the help of suitable diagram.
6
824(IM) - 4,4
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